
Relative position – key points 
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The set-up:

Two objects A and B arer moving in a set of axis

Their initial position (relative to the origin O) are the position vectors

 they have a speed .
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The distance between the two point is given by .
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which is equivalent to (We use s to avoid working with square roots)

So, to work out when the two points are the CLOSEST to each other:
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Example: 

 
 

18 5 12 6
The position of B relative to A is :

5 1 8 12

Are they going to meet?

13 6 0 13 / 6
0 Inconsistent.

6 20 0 6 / 20

A and B do not meet.
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